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o SECTION-A (5 Marks) \

, - Answer ALL questions R BT
ALL questlons carry EQUAL marks R (5 x1=35)

| 1. The market value of the firm is the result of

(i) Dividend decisions. - (ii) Working capltal decrsrons -
- (iii) Caprtal budgeting decisions. (iv) Trade-off between cost and rlsk L
2 Cost of capltal isthe rate of return expected by its investors |
()-Minimum. - o © (ii) Maximum
| (111)Equal S R (iv) higher -
.3, Caprtal Budgeting deals w1th | o - R R
“ (i) Working capital - - o ‘(ii) Long term investments:
(ii) Short term investment e (iv) Cash flows
- 4. Working caprtal management is managmg . L I
’ (i) Long term assets = . (ii) Short term assets and liabilitie’s.
(m) Long terms llablhtles T - (1v) Only short-term assets.
[ 5. isa payment of addrtlonal shares to shareholders in lieu of cash
- (@) Stock Split . S (ii) Stock Dividend = :
(m) Extra D1v1dend oo (_111) Regular Dividend
... . SECTION-B(15Marks)
Do S -~ Answer ALL Questions ST
o ‘ALL Questtons carry EQUAL marks (53X 3=15) L

6 (a) Explam the objectlves of Fmanctal Management

' ‘ ‘ [OR]
(b)What are the hmltatlons of ratio analys1s?

-7 (a) Vrctory Ltd issued Rs.2, 00 000 9% debentures ata premrum of 10% The ﬂoatatron _
~ costs (issue expenses) were 2%. The tax rate is 40%. Compute the cost of debt ot
before tax and after tax. : .
| | [0R]

(b) Calculate operating and fmancml leverages from the followmg partrculars

~ Unitssold - 5,000
Selling pricep.u. - Rs.30
_Variable cost pu. - .Rs20
O EBIT . . Rs.30,000
10% Pubhc debt - Rs. 1 00 000

(a) Calculate the Pay-back perrod for a prOJect which requires a cash outlay of .
- Rs.1,00,000 and generates cash inflows of Rs.25,000, Rs.35,000, Rs.30, 000 and
Rs 25, 000 in the ﬁrst second third and fourth years respectlvely
AP ~  [ORl

v (b) State the features of venture capltal | R
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9 (a) What are the objectrves of recelvables management" =

W :
I

| [OR]
(b) Brleﬂy explam the varrous types of 1 mergers

' =10 (a) “The. followmg information relates to Sunlight Ltd S
~+ .. Earnings per share 7EPS) “Rs.10 . SRR
‘;»Returnonmvestments @® 12%

. Costofcapltal ' .(k), o 12% .

"'v_'Payoutratro' o ':' 40% o

o Determme the market prlce per share using Walter ] approach

OR S y )

(b) Explaln brleﬂy the determmants ot[‘ drv}dend pohcy of corporate enterprrse

SECTION-C (30 Marks) '
L - Answer ALL Questions - o
a ALL Questlons carry EQUAL marks -~ (5X6=30) .
11 (a) Outhne the scope and functrons of ﬁnanclal management T

Ll e - T lom e
(b) From the followmg partlculars pertalmng to assets and habllltles of a company
‘Calculate (1) Current ratio (2) quuxd Ra‘uo (3) Proprletary ratlo (4) Debt-Equrty
rauo ) Caprtal Gearmg ratio. .- : , ,

Liabilities | - Rs . 'ASSets T Rs. |

, 5 000 Equrty shares of Rs. 100 - 5,00,000 Land and Bulldmg 1 6,00,000 |
- leach - L T
T, omrpféfsﬁare‘ﬁfa—s reeem zeoa;oa Plant and Machmery 1.5,00,000 |
4,000 Debentures of Rs 100 each 4,00,000 | Stock S| 2,40,000 |
| Reserves _ ‘ 3,00,000 [ Debtors | 2,00,000 |
- | Greditors - T 1,50,000 | Cashand Bank =~ | '55,0,00.,”
) Bank Overdraﬁ} | 50,000 | Prepaid Expenses. - -| . 5,000
R o 116,00,000 | o 1600000

l2(a) Anand Ltd offers for the publlc subscnptron equrty shares of Rs 10 each at a o
premnum of 10% The Company pays an underwriting commlssmn of 5 % on the issue.
The equrty shareholders expect a dividend of 10% - '
_a. Calculate the cost of equity capital - :
b Calculate the cost of equity capital if the market prlce of the share is Rs 20

, _ , . [OR] . _ S
(b) From the followmg caprtal structure of a company, calculate the overall cost of o
| capltal JORT S
e Source T BookValue
o . Equlty share capltal (Rs 10 shares) 45,000 j
 Retained Earnings = - 15,000 '
L ‘;.‘.»Preference Share Capltal o 10,000
- Debentures - L 30000

" ,The after-tax cost of dlfferent sources-of f'mance is as. follows o
Equ1ty Share Caprtal - 14%, '

_ RetalnedEarmngs 13%, o
; ~ Preference Share Capital 10% S R
Debentures 5% I

13(a)Dlscuss the advantages and lrmrtatrons of term loan asa source of ﬁnance
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o (b) 'Ehe Alpha Co Ltd is consrdermg the purchase of anew machme Two alternatlve

" . machines
" Rs.4, 00,000 and requrrrng

(Aand - B) Have been suggested, each having an 1n1t1a1 cost of

Rs 20, 000 as addrtlonal working capltal

‘ at the end of 1 year. Earmng after taxatlon are expected to be follows:

;».

o : The company has a target of return on
- required to compare the proﬁtabrlrty of th
" you consider financially preferable‘?

- . Note: The- followmg table glves the present value of Rs 1 due 1n ‘n’ number of ,

‘Cash Inflows L

Year' ‘Machine- | Machine- | . N
e T T

o+ RS, . Rs.,

1 40,000 | 1,20,000 |
— 2 | 1,20,000]| 1,60,000]"
3 [ 1,60,000] 2,00,000

4 | 2,40,000| - 1,20,000 |

5 [ 160,000] 80,000}

capltal of 10% and on thrs basis, you are
e machmes and state whlch alternatlve

years: ) | |
" Year 1 ] 2 | 3. 4 é"54
091 075 T0.62 |

0.83

0.68

S V' Factor @ 10%

?'14 (a) Explam the factors whrch determme the workrng cap1ta1 needs of a ﬁrm
R ~ [OR]
(b) Anand Wlshes to commence a new tradrng busmess and grves the followmg
: mformatron . :

o a.
b

C.

“Total estrmated sales p a. Rs 6, 00,000 .

His fixed expenses are estimated at Rs.1,
' expenses equal to 5% of his turnover -~
‘He expects to fix a sale price for- each product whrch w1ll be: 25% in excess .
-of his cost of purchase. : :

000 per mo'nth and yariable B

_d. He expects toturnover his stock 4 times ina year

. The sale and purchases will be evenly spread throughout the year All sales

€
* . will be for cash but he expects one month’s credit for purchases
Calculate (a) His estimated profit for the year
(b) His average workmg Caprtal requrrements
S 15 (a) The followmg mformatlon relates to Venus Ltd.
. Earnings Per Share Rs 30
- Productivity of retained earmngs (r) 15%
Caprtallzatlon rate (k) o 15% - v
- What is market pr1ce per share accordmg to the Walter. model if retentron is
a) 20% b) 40% c) 60% i '
CoL . .IOR] R
(b) What is d1v1dend‘7 Explarn the' varrous forrns d1vrdend s
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